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Note: All questions must be answered in English.
Ⅰ. Define the following terms. Give examples whenever possible (36% ; 6% for each question) .
1. functional shift
2. categorical perception
3. syntactic parsing
4. Creole
5. ellipsis

6. affricate

Ⅱ. Answer the following questions (64% ; 16% for each question) .
1. Suppose a child reliably says [kɑr] for car, [tæt] for cat, [tek] for take, and [tot] for coat. (1) Discuss why it is not appropriate to conclude that the child gets her /k/s and /t/s mixed up. (2) What additional pronunciations would you check in order to be sure that your alternative description is accurate? 

2. Franck et al. (2002) conducted a study, which examined whether English speakers rely on the linear order of words or the hierarchical structure of the sentence in determining appropriate verb agreement. Native speakers of English participating in the study were instructed to listen to the sentence beginnings, then to repeat and complete them. They were asked to speak as quickly as possible. No other constraint was put on the form or content of the completions. 

(A) The threat to the president of the companies ___________.
(B) The threat to the presidents of the company ____________. 
(1) Predict the performance patterns native speakers of English should demonstrate if they determine the appropriate verb form based on the linear structure of the sentence. Will they show a tendency to complete the sentence by, for example, is serious or are serious for (A) and (B) when the decision is made on the basis of linear order? 

(2) Franck et al. (2002) found that agreement errors are more frequent following (B) than following (A). In other words, more speakers produced are serious for (B) than for (A). Franck et al. (2002) concluded that errors are made at a stage of grammatical analysis during which syntactic units are organized into a hierarchical structure. Discuss why the results support Franck et al’s conclusion that English speakers rely on the hierarchical structure of the sentence (rather than the linear order of words) in determining appropriate verb agreement.
3. Abbreviated English (AE) is a register of written English used in newspaper headlines and elsewhere. So some examples follow:

OBAMA IN CALIFORNIA THIS WEEK

OLD LADY FOUND MISSING WEDDING RING

POPE DIES IN VATICAN

BUSH HIRES WIFE AS SECRETARY

AE does not involve an arbitrary omission of parts of the sentence but is regulated by grammatical rules.

(1) Translate each of these headlines into Standard American      English (SAE).

(2) What features or rules distinguish AE from SAE?
(3) What is the time reference of the above headlines (e.g., present, recent past, remote past, future)?

(4) Is there a difference in possible tense interpretations when the predicate is eventive (e.g., dies) than when it is stative (e.g., in California)? 
4. The following sentences are either ambiguous or mistaken in terms of meaning or English grammar. After figuring out the ambiguity or mistakes, please explain the problems in each sentence and rewrite each to make them semantically and syntactically sound.

(1) Kissing girls is what Joseph likes best.

(2) If you require further information on the applicant, I would be pleased to do so.

(3) The children the small boxes, the adults will carry the large ones.

(4) Old men and women will be served first.  
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